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A woman who is promiscuous turns over - NooINR IR AWN

Overview

721 explained the reason °01° "1 maintains that even in cases where we know that she
was 17¥21, nevertheless she is permitted to marry without waiting, is because a
woman who is 1317 1s N29707 in order that she should not become pregnant, therefore
there is no concern of mixing the ¥71. Our MooIn clarifies this answer.
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So now there is no difficulty why an 71923 791K may marry immediately, for they too
when they are being %v21, are careful to be 75701, for they may be planning to marry someone else,

and they may not want to wait.
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However, a 715w who was released on account of 1°»1 3w, even °'"'9 would agree
that she is required to wait three months, for regarding her, why would she be
Tonn?!

Summary
An 10197 701X are 79107 and do not have to wait, but a ¥ Jw2 NRXY are not I9INA

and have to wait (even) according to 01 .

Thinking it over

Why is this m50IN necessary. It seems obvious that 711911 701K are also 7d70n, and
even more obvious that 1¥1 jw2 XX (which are never mentioned in the N1n*12) are
certainly not 797nn, so what is M90In teaching us?! Why would we have thought
differently?

'When she was 12v21 before her 7°v1 1 were knocked out, neither she nor anyone else had any inkling that this would
happen, she had no indication that she would be freed soon, she assumed she would remain a finow forever, so she was
definitely not 757nn, therefore she has to wait the three months.
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